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16E(B)
MATHEMATIC S, Paper - II

(English version)
Parts A and B
Time : 2Y; Hours] [Maximum Marks : 50
Part - B
Time : 30 minutes Marks : 15
NOTE :-
1. Answer all the questions,
2. Each question carries Y2 mark,
3. Answers are to be written in the question paper only.
4. Marks will not be awarded in case of any over-writing and rewriting

or erased answers.

L. Writethe CAPT TAL LETTER showing the correct answer for the
following questions in the brackets provided against them. 10x% =5

1. If in AABC, AB®+BC®=AC? thensB= . | O
(A) 30°
(B) 60°
©) 90°
(D) 120°

2. Theliney = mx + ¢ intersect the X-axis at the point ........ fccennal
A) (o, ¢
(B) (e, 0)

©) (‘—“, o)
m

(D) (o, ;0)
m
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The line parallel to Y-axis through (k, k) is ..........
@A) x=h B) x=¢k
(C) vy =} D) y=¢

If Mean=12.5 and Median = 12, then Mode = ...........

(A) 135 @ 11
(C) 115 D) 105

({3}

The range of the first “n” natural numbersis .........

n+l n-1
(A) 3 (B) 2
©C) n+1 D) n-1
If cos 6= i—g, thensin (90° +0) = ..........
=12 12
(A) 13 (B) 13
5 -5
(C) 13 (D) 13
3 0], ;
If is scalar matrix, thenP = .............
0P
(A) 0 (B)
(C) -3 M) 3
: cos6 —sin6
The value of the determinant |~ .
sinf cos6
(A 0 B) 1
© 3 D) -1
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9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Vacuum tubes were usedin ............ generation computers. floalid]

A) I (B) I

(C) I D) v

................... is used as processing operation box in a Flow Chart. Lesssiwa] -
(A) Rectangle (B) Circle

(C) Ellipse (D) Rhombus

Fill in the blanks with suitable answers. 10x% =5

‘O’ is the centre of the circle.
If ZABC = 50°, then ZAOC = ..o

If two circles having the radii 8 cm and 5 em touch each other internally, then

the distance between their centres is (in cms b AL S e BN

ExpandiLILS ..o s osmrermmmssertes o s

Example for Input device in Computers is ...............ooooovveoooooooo
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HI. Find the correct answer for the questions given under Group-A selecting them
from Group-B and write the indicating letter in the brackets provided against

(1)

21.

22,

23.

24.

25.

(i)

26.

27.

28.

29.

30.

each question.

Group - A
The number of common Essiensad
tangents for two externally
touching circlesis ........
In AABC, if 4B = 90°, Eesasiond

AB=3, AC=5,thenBC = ........

If mid point of (1, 4), (3, 6) P
is(K,5),thenK = ........

Slope of the linex -y + 7=0 is...... i
Arithmetic mean of Vil
3,4,5,6,7is........
Group - A
t lt_ e R m a5, LR RN )
an’¥ [ ]
cos?0° + sin%90° = ........... Lesssone]
4 0|
2 K
If 1 3 is singular matrix, | R
then K =i.......
The number of major parts fusaed)

in a Computer s ......

16E(B) [4]

10 Ya=5
Group - B
(A) 1

(B) 2
© 3
(D) 4
(E) 5
(F) 6
(G) L7

(H) 8

Group - B

D 2

@ 3

(K) 6

(Iz) -1

(M) 5

(N) 4

0) 7
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